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107002613610076 = 101 MRRIZETESR 080502 RlE ES=kzl 366 86.0 79.6
107002613610098 Bk 101 MRRIZETESR 080502 RlE ES=kol 365 84.4 78.7
107002613610289 =F8 101 MRRIZEETREZR 085600 MESHT £H 362 78.4 75.4
107002613610344 KEH 101 MRRIZEETREZR 085600 MESHI Ea=kl 362 87.6 80.0
107002613610077 FE 101 MRRIZEETREER 080502 Rl =R 361 76.5 74.4
107002613610271 5% 101 MRRIZETRESR 085600 RS Ea=k 358 81.1 76.4
107002613610179 £ SES 101 MRRIZEETREER 080503 MEINIITZ Ea=k 352 91.2 80.0
107002613610011 RiBRE 101 MRRIZEETRESMR 080501 MRS E ES=k 350 88.1 78.9
107002613610019 ongs 101 MRRIZEETRESMR 080501 MRS E E=k] 349 83.4 77.0
107002613610097 2HE 101 MRREIZEETRESMR 080502 MRZE £ B 349 85.4 77.6
107002613610241 2R 101 MRREIZEETRESMR 085600 MRS E=k] 349 86.0 80.0
107002613610185 R 101 MREIZEETRESMR 080503 MEIIIIRE E=k 347 90.4 79.0
107002613610245 55 101 MRREIZEETRESMR 085600 MRS E=F 346 78.0 75.0
107002613610340 AT 101 MRREIZEETRESR 085600 MESHT =R 346 80.4 76.0
107002613610158 X 101 MRRZETESR 080503 MROIT TR =R 342 87.6 76.0
107002410510423 L7 101 MRRIZETESR 085600 MESHT =Rl 340 77.0 72.0
107002613610277 TiEe 101 MRRIZETREZR 085600 MESHT Ea=k 340 70.9 69.4
107002613610168 [ 101 MRRIZEETREER 080503 MROIT TR Ea=k 338 66.0 67.0
107002613610284 =5 101 MRRIZEETREZR 085600 RS ES=k 338 79.4 73.5
107002613610086 FHEE 101 MRRIZEETREER 080502 MRlE =R 337 80.4 73.9
107002613610209 #BAR 101 MRREIZEETRESR 080503 MEINIIIE e =kl 336 80.0 74.0
107002613610082 27 101 MRRIZEETREER 080502 MRZE =R 335 84.1 75.5
107002613610042 E)SIE 101 MRRIZEETRESMR 080501 MRS E E=k 334 74.0 73.0
107002613610282 BRiE 101 MRRIZEETRESMR 085600 MRS E=k 332 75.3 70.9
107002361210407 RIKIR 101 MRREIZEETRESMR 085600 MRS E=k 331 68.0 68.0
107002613610012 DREE 101 MRREIZEETRESMR 080501 MRS E E=F 330 79.1 73.4
107002613610073 FNARER 101 MRREIZEETRESMR 080502 MRlZE <R 329 78.2 72.0
107002613610180 =i 101 MRRZETESR 080503 MRHIT TR =R 329 84.8 75.0
107002613610062 SRR 101 MRRIZETESR 080502 RlE E=kzl 328 82.2 73.9
107002613610339 = 101 MRRIZEETREZR 085600 MESHT Ea=kl 327 78.0 72.0
107002414310052 ZKiE 101 MRRIZEETREER 080501 MRIE S e =k 326 74.9 71.0
107002620210493 3KiE 101 MRRIZETRESR 085600 RS T E=k 326 84.5 74.9
107002613610010 BiE 101 MRRIZEETRESR 080501 MRS E Ea=k 325 78.0 73.0
107002613610065 Pl 101 MRRIZEETREEMR 080502 MRlE =R 325 87.4 76.2
107002614110467 E2,71)] 101 MRREIZEETREER 085600 MRS E=k 324 72.0 70.0
107002613610027 BR3R1E 101 MRRIZEETRESMR 080501 MRS E E=k 323 77.7 73.5
107002613610288 FrpF 101 MRREIZEETRESMR 085600 MRS E=k 323 78.4 71.5
107002613610020 HEE 101 MREIZEETRESMR 080501 MRS E E=k 322 81.3 73.8
107002613610191 =2 101 MRREIZEETRESMR 080503 MEIIIIRE E=k 321 89.2 75.0
107002613610192 =FhE 101 MRREIZEETRESMR 080503 MREHIIIRE E=F 321 74.8 71.0
107002613610199 EiEE 101 MRRIZETESR 080503 MROIT TR =R 321 83.2 74.0
107002371510416 ME=E 101 MRRIZETESR 085600 MESHT £H 319 79.3 71.6
107002614410482 P55 101 MRRIZEETREZR 085600 MESHT £H 319 67.9 65.9
107002613610109 BARE 101 MRRIZEETREER 080502 RlE 2B 318 85.1 74.4
107002614410148 RS 101 MRRIZEETRESR 080502 RlE =R 316 81.5 72.3
107002613610178 SRR 101 MRRIZETRESR 080503 MROIT TR Ea=k 316 70.4 72.0
107002613610315 SKIEHHB 101 MRRIZEETRESMR 085600 MRS Ea=k 316 74.8 69.0
107002613610085 Zrhig 101 MRRIZEETRESMR 080502 MHZE =R 315 75.2 69.1
107002613610088 iz 101 MRRIZEETRESMR 080502 MRZE =R 315 76.7 69.9
107002613610092 [ERziE 101 MRREIZEETRESMR 080502 MHZE E=kl 315 80.3 71.6
107002621510236 e 101 MRREIZEETRESMR 080503 MEIIIIRE E=k 315 76.4 72.0
107002613610093 2R 101 MREIZEETRESMR 080502 MRZE ES=kl 314 78.1 70.4
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107002613610099 5T 101 MRRIZETESR 080502 RlE £H% 314 81.7 72.3
107002613610119 SKEE 101 MRRIZETESR 080502 RlE ES=kol 314 76.6 69.7
107002613610257 E& 101 MRRIZEETREZR 085600 MESHT £H 314 72.8 68.0
107002330110218 R 101 MRRIZEETREZR 080503 MROITTE Ea=kl 313 83.2 74.0
107002210910390 LR 101 MRRIZEETREER 085600 MRS Ea=k 313 75.5 69.0
107002613610242 ETE 101 MRRIZETRESR 085600 RS Ea=k 313 75.0 71.0
107002613610303 FEwR 101 MRRIZEETREER 085600 MRS Ea=k 313 75.0 69.0
107002220710130 32} 101 MRRIZEETRESMR 080502 MHZE =R 312 74.5 68.5
107002613610248 EEE 101 MRRIZEETRESMR 085600 MRS E=k 312 76.0 69.0
107002613610310 BiRE 101 MRREIZEETRESMR 085600 MRS E=k 312 85.0 75.0
107002621210233 B=E 101 MRREIZEETRESMR 080503 MEIIIIRE E=k] 311 72.0 67.0
107002613610278 XUEH 101 MREIZEETRESMR 085600 MRS E=k 311 74.2 68.2
107002613610105 T 101 MRREIZEETRESMR 080502 MRlZE E=kl 310 88.7 75.3
107002613610333 B IE 101 MRREIZEETRESR 085600 MESHT =R 310 82.8 72.0
107002614910489 EIH 101 MHRZETREZR 085600 MESHI 2B 310 74.5 69.2
107002410510421 ZRI 101 MRRIZETESR 085600 MESHT =Rl 309 79.6 70.0
107002130310368 XUBER 101 MRRIZETREZR 085600 MESHT Ea=k 308 74.4 69.0
107002231110398 BB 101 MRRIZEETREER 085600 RS Ea=k 308 87.4 74.5
107002501410462 XITTER 101 MRRIZEETREZR 085600 RS ES=k 308 74.4 69.0
107002613610004 aiEE 101 MRRIZEETREER 080501 MRS E E=kl 307 70.0 69.0
107002613610022 T 101 MRREIZEETRESR 080501 MRS e =kl 307 86.3 73.8
107002613610040 =EE 101 MRRIZEETREER 080501 MRS E E=k 307 83.9 72.8
107002613610190 F—=* 101 MRRIZEETRESMR 080503 MEINIITE E=k 307 76.0 71.0
107002613610243 XU 101 MRRIZEETRESMR 085600 MRS E=k 307 78.0 71.0
107002613610298 HEE 101 MRREIZEETRESMR 085600 MRS E=k 307 78.3 69.8
107002613610037 B& 101 MRREIZEETRESMR 080501 MRS E E=F 306 76.4 68.7
107002613610175 FEH 101 MRREIZEETRESMR 080503 MREIIIIRE E=L 306 83.2 73.0
107002613610083 fFmim 101 MRRIZETESR 080502 RE =R 305 80.5 70.7
107002613610177 =% 101 MRRIZETESR 080503 MROIT TR =R 305 83.2 72.0
107002613610090 LR 101 MRRIZEETREZR 080502 RlE =R 304 81.0 70.9
107002613610103 fd P 101 MRRIZEETREER 080502 RlE ES=kol 304 74.5 67.6
107002613610193 1BEfB 101 MRRIZETRESR 080503 MROIT TR E=k 304 82.4 73.0
107002621510235 ZRHE 101 MRRIZEETRESR 080503 MEINIITE Ea=k 303 82.0 72.0
107002613610352 iEM 101 MRRIZEETREEMR 085600 MRS Ea=k 303 72.0 67.0
107002613610041 pUES 101 MRREIZEETREER 080501 MRS E E=k 302 75.0 66.0
107002613610254 REE 101 MRRIZEETRESMR 085600 MESHIT E=k 302 75.5 68.7
107002613610314 Ei\NvE 7] 101 MRREIZEETRESMR 085600 MRS E=k 301 74.0 67.1
107002613610030 = 101 MREIZEETRESMR 080501 MRS E E=k 299 76.8 68.6
107002613610104 1#%bE 101 MRREIZEETRESMR 080502 oy el E=L 299 83.7 71.7
107002413410436 =] 101 MRREIZEETRESMR 085600 MRS E=F 299 72.4 67.0
107002613610102 FER 101 MRRIZETESR 080502 Rl E=kl 298 83.7 71.7
107002613610176 =202 101 MRRIZETESR 080503 MROITTRE £H 298 87.2 73.0
107002613610249 VHERRE 101 MRRIZEETREZR 085600 MESHT £H 298 74.0 67.0
107002613610311 as 101 MRRIZEETREER 085600 MESHT Ea=k 298 77.0 69.1
107002613610100 XlHB 101 MRRIZEETRESR 080502 p Sl e =k 297 86.0 72.7
107002330610403 SKAS 101 MRRIZETRESR 085600 RS T e=k] 297 68.9 66.3
107002613610304 HAE 101 MRRIZEETRESMR 085600 MRS Ea=k 297 74.0 67.0
107002613610013 M 101 MRRIZEETRESMR 080501 MRS E Ea=k 296 87.7 73.0
107002613610071 FNFEF 101 MRRIZEETRESMR 080502 oy Riead e =k 295 83.9 71.4
107002613610117 sKFE 101 MRREIZEETRESMR 080502 g Riead E=ks 295 78.1 68.6
107002613610169 FL$8E 101 MRREIZEETRESMR 080503 MEIIIIRE E=k 295 83.6 71.0
107002613610256 SKHR 101 MREIZEETRESMR 085600 ST E=k 295 77.6 69.0
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107002613610299 & 101 MRRIZETESR 085600 MESHT 2B 294 73.2 66.0
107002613610036 SR (M, 101 MRRIZETESR 080501 MRS E e =k 293 83.1 71.1
107002141110375 EXIDHE 101 MRRIZEETREZR 085600 MESHT £H 293 81.6 69.0
107002613610111 B 101 MRRIZEETREZR 080502 p el E=ks 292 81.1 69.7
107002613610171 F= 101 MRRIZEETREER 080503 MROITTE Ea=k 291 91.6 75.0
107002621610500 EEM 101 MRRIZETRESR 085600 RS Ea=k 291 73.2 67.0
107002613610016 E S 101 MRRIZEETREER 080501 MRS E Ea=k 290 79.1 68.5
107002331010133 BiFR 101 MRRIZEETRESMR 080502 p e e =k 290 81.0 69.5
107002613610069 [E8 101 MRRIZEETRESMR 080502 oy el E=ks 290 75.2 66.6
107002613610107 e 101 MRREIZEETRESMR 080502 p el e =k 290 83.3 70.7
107002613610336 KEH 101 MRREIZEETRESMR 085600 MRS E=k] 290 93.2 75.0
107002613610074 kS 101 MREIZEETRESMR 080502 o p el E=k 289 78.1 67.9
107002613610200 IEEpve:: 101 MRREIZEETRESMR 080503 MEIIIIRE E=F 289 84.8 60.0
107002613610183 ETIRRR 101 MRREIZEETRESR 080503 MRHIT TR =R 288 84.4 73.0
107002613610300 FER 101 MRRIZETESR 085600 MESHI 2B 288 75.7 66.7
107002613610301 FEH 101 MRRIZETESR 085600 MESHT e=k] 288 76.4 68.0
107002613610162 ) 101 MRRIZETREZR 080503 MROIT TR Ea=k 285 83.2 71.0
107002613610205 =) 101 MRRIZEETREER 080503 MROIT TR Ea=k 285 80.8 68.0
107002130210366 2 101 MRRIZEETREZR 085600 RS ES=k 285 76.8 68.0
107002360610405 Rt 101 MRRIZEETREER 085600 MRS E=kl 284 78.4 68.2
107002613610325 ERIER 101 MRREIZEETRESR 085600 MRS e =kl 284 87.7 72.2
107002613610068 ] 101 MRRIZEETREER 080502 o p e e =k 283 80.1 68.3
107002613610294 E3TR 101 MRRIZEETRESMR 085600 MRS E=k 282 76.1 66.3
107002614110476 SRy 101 MRRIZEETRESMR 085600 MRS E=k 281 84.4 70.0
107002613610075 NEN==3] 101 MRREIZEETRESMR 080502 MRlZ e =k 280 79.7 67.8
107002613610106 ZEIHf 101 MRREIZEETRESMR 080502 o p el e =k 280 79.0 67.5
107002613610101 =E& 101 MRREIZEETRESMR 080502 oy kel E=k 279 82.3 69.1
107002348710219 TR 101 MRRIZETESR 080503 MRHIT TR =R 278 72.4 64.0
107002613610328 RES 101 MRRIZETESR 085600 MESHI =R 278 74.1 64.9
107002613610255 R 101 MRRIZEETREZR 085600 MESHT Ea=kl 277 76.4 67.0
107002614410483 FRHH 101 MRRIZEETREER 085600 RS e =k 277 85.3 70.4
107002613610005 EEN 101 MRRIZETRESR 080501 MRIESHE E=k 276 82.0 69.0
107002613610014 BT 101 MRRIZEETRESR 080501 MRS E Ea=k 276 71.3 64.7
107002141810215 NERSE 101 MRRIZEETREEMR 080503 MEINIIIE Ea=k 274 72.8 62.0
107002613610250 ZER 101 MRREIZEETREER 085600 MRS E=k 274 78.4 66.7
107002613610276 e 101 MRRIZEETRESMR 085600 MESHIT E=k 274 75.9 67.2
107002613610291 RN 101 MRREIZEETRESMR 085600 MRS E=k 274 63.0 69.0
107002613610317 #in 101 MREIZEETRESMR 085600 MRS E=k 274 75.2 66.0
107002613610356 XU 101 MRREIZEETRESMR 085600 MRS E=k 274 85.6 70.0
107002622010501 F= 101 MRREIZEETRESMR 085600 MRS E=F 274 64.0 60.0
107002614110475 FNRI 101 MRRIZETESR 085600 MESHT 2B 273 74.8 66.0
107002620610496 BT 101 MRRIZETESR 085600 MESHT £H 273 74.0 64.0
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